10+2
Economics (Theory)
(Hindi and English Versions)

Time allowed : 3 Hours Maximum Marks : 85

oRlereft gerivg e vreal A &) STN ¢ |
Candidates are required to give their answers in their own words as far as possible.
TAE TeH & b IHP A U 77 2

Marks allotted to each question are indicated against it.

R e
Special Instructions:-
(i) U SR YRTHT & I I & HUR 95 AR QY Y g0 H ye U7 ENIoT 3wy
ford |
You must write question paper series in the circle at the top left side of the title
page of your answer book.

(i) ol & IR < AHG Sl TR T-—F W S TE B, Sk YRABT R T
Ue—ET Torg=T i e 2 |
While answering your questions, you must indicate on your answer book the
same question no. as appears in your question paper.

(iil) STR—gRTHT & 99 ¥ @rell 71/ I T BIE |
Do not leave blank page/pages in your answer book.
(iv) < wee erfart € |
All questions are compulsory.
(V) UA® U B T 9T BT SN TP & @I W T
All parts of each question should be attempted at one place.

HOT-&
PART-A
Q.1(a) rRfEE & =6 B a7 (1X5=5)
Who is the father of Economics?
(b) T U8 HET 87
v ST _ BRI
Sntic
_m®

Isit correct that AR

0

(1)
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Q.2

Q.3

Q4

Q.5

Q.6

(c)

AT aX[Y T el 87

What are substitute goods?

AR BT oA B AI——————F |

(=R (i) = (i) 9= (v)aT

Degrees of Price Elasticity of Demand---------.

(i) Four (i) Three (iii) Five (iv) Two

“Principles of Economics” AT fdameg ————— feral |
(i) Adam Smith TeA =1 (i) Robbins Jfa=3

(iii) Dr.Marshall =1. 71efa (iv) Peterson diew—

Who wrote the book ‘ Principles of Economics’.
(i) Adam Smith (ii) Robbins (iii) Dr. Marshall (iv) Peterson

AT & | BT AR @ ARAT BN |
Explain the assumptions of the law of demand.

Tfte areferes oilk wAfte srefvmes R forar |

Write difference between Micro Economics and Macro Economics.

ot s o) frsars for |

Explain the features of the perfect competition market.

T @ Yfawe sk U9 @ Ufther # R forat |

Distinguish between returns to a factor and returns to scale.

o= arferent @1 qRT STy !
JUEA P ghEAl  SMFA AT BA AN HHT AT
1 10 2 =
2 9 4 ”
3 8 - -
4 7 - -
5 7 - -
Complete the following table :
Units of output Averagecost  Total cost Marginal cost
1 10 - -
2 9 - -
3 8 - -
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Q.7

Q.8

Q.9

Q.10

Q.11

(a)

(b)

4 7 - -

5 7 - -
o anferesT & HIT @ &lrd ST SIfoTg (8)
R U seEs @ A0 T A ()

10 15

9 20
Calculate the elasticity of demand from the following table. (4)
Per unit price () Quantity demanded (Kg)

10 15

9 20
gfct 1 ywIfae SR a1l T<al B AR BITg? (4)

Explain the factors affecting supply.

AT A FIAR TUT 79 H FHE & Gied Al Bifo | (5)

Explain extension of demand and contraction of demand with the help of
diagram.

A B 9 UIIhA 91 BId 82 §77d AN 8lH & &T BRI &7 (5)

Whatis meant by law of increasing returns to a factor? What are the causes of its
implementation?

HIT H BT gTel UREc T Ageld SIAd U= a1 J91d IS, Afs i ReR 32 | (5)

What will be the impact on equilibrium price when demand changes, but supply
remains constant?

310aT for :
i FFRT T S B 87 [2—)

How does an economic problem arise? i
I fBH Fed 8 ? g fdha- YdR & 8l B | [25J

Whatis meant by utility? Name the various concepts of utility.

HOT-"
PART-B

Q.12 (a) SIS BT FET SRR @ ©F O ITEr ¥ Heied 87

(i) i srefemes (i) e srfemes
(iii) wAfte vd @fte srfos (iv) §79 9 @IS 78 |

3)
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(b)

(c)

(d)

(e)

Q.13

Q.14

Q15

Q.16

Problem of unempolymentis related to---------.
(i) Macro Economics (ii) Micro Economics
(iii) Micro and Macro Economics (iv) None ofthese.

(i) ¥ee §® 1% sfvear (i) Rod 9 sifw gfosar

(iii) USIE "eHe 9 (iv) gfae 9§ oifw sivsar
Name of Central Bank of India ------------

(i) State BankofIndia (ii) Reserve Bank of India
(iii) Punjab National Bank (iv) Union Bank of India
——————— YA BT SAEXT & |

(i) FARSH B (i) SUTed B

(iii) faspr &) (iv) S B

Example of Direct Tax ig ===========---- :

(i) EntertainmentTax (ii) Excise Tax

(iii) Sales Tax (iv) Income Tax

T SR 2R 3l SATgHe, SeXve Us AHl A Y&ih b fordl?
(i) = #ArfE (i) Sumaw (i) e (iv) =4

Who wrote the book ‘“The General Theory of Employment, Interestand Money.

(i) Dr.Marshall (ii) J.M. Keynes (iii) Robbins (iv) Hanson.
I I BT 7Y B foa= faferr 87

(i) T (i)ar ()= (iv) o=

How many methads to measure the national income.

(i) Two (ii) Four (iii) Three (iv) Five

I AT UaTE H T 3R 27
Distinguish between Stock and Flow?

s MPS &1 59 0.8 & A 016 &1 g A1 BIIT |
IfMPS= 0.8, find the value of multiplier.

et i1 3ifod awgall # SfaR e & |

Differentiate between intermediate goods and final goods.

faforReT eridsi | g IS 3 B 0T BT |

Calculate the Net National Income from the following data
(4)
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17

18

19

20

21

22

()
(ii)

L e )

(Items) Crore (%)
& el 3 (Gross Domestic Income) 45,000
HeugT¥ (Depreciation) 3000

(iii) Fezad] T AT Her AT

(Intermediate Goods and raw material) 5000

(iv) facer A g A A

(Net Factor Income from Abroad) 2000

HIC © Jolc Bl TR & SRAT BT |
Explain the concept of Deficit budget.

TIEY] VT &) HAT &) AR B | 39 9T H DY 97 off Hdhdl 87
Explain the double counting problem. How it can be avoided?

qa&T @ J& H1| Bl qui- By |

Explain the main function of money.

ey S JT ARG §6 § T3 87

Whatis difference between Central Bank and Commercial Bank.

TRraze YT WY Bl S B B IUTAT BT Ui DIty |

(5)

Explain the measures to correct the disequilibrium in the balance of payments.

g A gomell 71 87 S9! 9% Sieasal & aofF S |

Whatis barter system of exchange? Explain its drawbacks.
34T for

URSE RIS T2T Ao d SRISHTRI H 997 iR B |

Differentiate between voluntary and involuntary unemployment

¥ T R fewel] forar |

Write a note on bank rate

(%)
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Q.2

Q.3

95
‘\-\_I\.___.J‘n.._.-/

T ()
TR AR RAE?
IR UeH |
FATAZ HECE?
SR BT
B TF0 TS ?
TR U Y G9ufd IR0 E O Uh—gR @ oy wAnT @) oy ¥
SETERYT & foTg URAT BIaAT 3R BT Bl |

IR ¢ AR D A @) A ura E |
“Principles of Economics” A& @ ------ fa=re?
SR ¢ I8 GKID S wieiel’ A fordl 7 |

HOT R (A R AU R ATAT R ?

SES kS

(1) SuwTeRTISH BT Bl @ metHears § gRad T8 81 ARy |

(2) SuIERTIRI T T A BIE URadH 81 8T T2 |

)
(3) HeferT avgell &1 HiFd # TRads 78] 8197 a1fey |
(4) SUHIRT I DI DA D [pe Ao H iR aifdres gRad= @ Fwremr 72

T |
ez b2 (T ST AR e e ' e et ?
TN e JARS

(1)

e a7efems H afd T WR W
3T aeT @7 T fhar ST g,
S U SUHIE, Uh BH, TH TRAR
P 3MFH THRIT |

M 37fH UHh STaTd B 312
SENT H TG T HIAd & ey
J e g |

fte 212f3A & eI &1 I8 FROT
& fr Fafe W ReR Ea £

e S7Rf3RE & TRHRI @& Hay H
TSR YOSl 1 AT 6T I8d Hecd
BATE |

(6)

e arefvms

(1) <A areierme H quf srefeqawern
& R IR IMffe Geel o7 31ega
frar ST 2 |

(2) He Sreiere &1 ey Fwyof
Jreferawel § qof SedTa a2l
AT BIAT TR & ERTF 2 |

(3) RS T B JeqIA FT T8
gRoT § T aftees Rer v £

(4) FHfE SRferd @ FHRIRN ©
Had # WHR 1 4T BT 984
AEd BT © |
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Q4

Q5

EIERUNCLE R G TRl

SO T Giarar &) g faeyard feferfea § —

BAT AT fasharett T it e : [l axg BTS2 dTet fasparell &1 Al ol Aa®
B & & 50 U W g1 il A &1 ST arell gig a1 et @l SR B et e )
TET B HH UHIG IS © | 3T DS Dol BH I DI BIFd bl FHIfAT T DY ebell |
I AR H Jaferd SHIF UR 70T IATEA da1 gl & |

il @l 31ftis T ¢ sharel a1 T 9 ifSe B 8 | gl $IE U smar
fIShaT BT TRE ARG BT B DI YA SR S AT &1 BIT | SAD! AT H B4 ATl
g a7 H¥ BT IR AT W 954 & HH TG TS 2 |

Tep A aQ : gt TRIARar 31 Ues 3 9 2 6 ) fasar vo At & gorsdl sud
& | S w9, 3T, 0T 7 e # T ot TR & SR e B |

ol ST : et SR FIshamsll B ST &F f@—2 TSN &l 8, Barsll Bl §9 a1 Bl
ot 51 BT & £ w2 st axg & e ora = ve 2 |

B! BT T YA G BISAT : GUT HIaTRIeT BI 3aReyT H {1 ST H $Ig W1 %H a9
TN B & AT IR B S ST B BIS Tl & |

e ATy : et iR fasaret # fefl axg & IeuTed, ! AHT 3R HHd e
PIs HSIGT Tl BIdT | IS B 319+ fvig a3 ol 2 |

HTH & AR ST T 3 T et 7 S o=t

: A @ Afhe SR YA & Ufihel § g&y ot Mol 86—

AT & Ufhel @1 I8 ATl © o T &1 Ui uRdc-2ilel BT 8 | $37e [usia
U9 & URTHel &1 I8 AT & o ATEHT BT guTd ReR IEar € |

A B UA%d S WY AN B § 99 $ad U AT URad-eiiel BT 8 T aeh!
A Rer B 2 | 39 Ay tAW &1 ufiwe 6 99 AN 8IdT 2 o9 Sc1a+ &
[T e gRad-eiier g € |

Y D vl §9 AT IR TR & o Scures ® T9H | uRadH \8! gidr | s9
faroere YA & il 59 JgaT R SURd € & Scares @ U9 % uRad- giar g |

e & Ui BT ey 39 AIET UR SIRG © A srure Rew vEdr €|
S Ui e Ufatel 59 AT OX MR & fob |are argura # uRRadi+ 2idl 8 |
A BT U hdol SIHdTe TITTT & Siai A & iawd &l AT A
3TeUdTel B HaH | BT ST & |

(7)
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Q6 PR

gxY .
I Bl SHIRI IR RECIUC] FA AN I AN
1 10 10 10
2 9 18 8
3 8 24 6
4 7 28 4
5 7 35 7

Q7 Tt AR & AT S0 S A A

B B

P=P

AP=P =9-10=-1
0=15,0, =20

AQ=0 -0=20-15=5

By E 20 _gpily o 10
Q- AP 15 #1 3

Ed=3.3

AT &) AT ghTs 9 7 2 |

Q.8 el T ST T AT At A AT R A

IR it T weTfad e arel I -

(1) o ) : foredT avg @) IRl e A § ueer e g € | fadt avg B
g+ A gfd gt 2 den omd HH EF A I A BB |

) R ol B e : R avg T g e el @ B R R e B
SRR & oI A9 AT U B =7 9o 2 | i GroTR J BI%] &1 SiFd 98 Sl
2 9 BH IAHH S R TR B B AT 99 B oy G gl s1Er $dl iAW)
T8 Y BT FH T3 oo+ B g TR BRI |

(3) T @) e : fobe awg Y AT T BA @) e w) A R axet § | 6E @
e o B IR i S B B | 3o AR WAl ol wiRer S Bl W i B

&1 ST 2 |
(4) TH D SRy UfE WH BT ST o BT ARBTH HRAT & A Doel HTD DI TR B

(8)
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ferep gfef &1 ST | s AuRT afe & o1 Sevy AT a1 Sered a1 ISR @Y
SMADBTTH BRAT & AT ATAT BIF IR 4T o7y gfed oy oy |

TE-1b A IRGEH : e B Th1d # gRac g &1 1 gff o) gwrg gear
eI Tl H GoIR 81 & BoRdwd Ui SHTS SeTe oid § S48y & | T
™ # gig B8R 8 | 39S Boawy il ¥ gig B 8 |

AT ¥ FTe B : Wiasy H %G BT B A B arel gRacT & werad &7 g w
AT TS © | IS Al H a%g B DI 98+ @) SHIGAT 81 T G gie T S 2 |
39 fquia I widw § ST g o J1aeT 81l gaq & gl 9g o 2
HREBRT AT : WRBR BT B FAT I Haell Al BT 9 a1 TR gfed T g7
TSl | TS BRI H glg B B Horawd A gfd B B @ | 39e Rk
ST @ BIROT gfef 7 gfeg gicf 2|

RT3 T T R S A S AT R

: HIT T fORER : 310 9Tl A7 R& UR, 19 fobedl aveg 1 H1Ad # BT 81 & Bk ey

D] AT 3ffereh B ST & A $ A BT O B8] ST & | Old SATSHHT 7 SIHd
3 5% T9 S AT TS T3 1 SMSTHIH & | Sfd S TR T 1 81 ST & d | BT
foRR BTepx =AY 9177 5 SMSFHIT B Wl & |

. QR
AT T AR W/ o
Bz T <) AT £o o] \%P
T B
[ D
' X

-

= M W O

5 1
1 5 —_
C1 2 3 4 5

Quantity

ferst & A Wi A @ S fAg A | A fag B 91 SR AReT AT & AR @ yee

HRATE |
HITT 1 Xl : 3= 9T GHIA Y8+ R 979 (el avg &1 BT § iy & Bl Belawy

D HAT B4 &1 Sl € o 797§ 81 dTell Bl BT AR & Hagad bed & | o
dfere] oI Forst = =1 81T © T 979 e & 1a T 1 8 5 a1 5 argwshig &
AT BT SIRAT 8 | AT SgATH @1 bIad Ge@x T 5 81 Ol 2 AT TSI BT HIT b
g I BIBR T AT 1 JATSHDHIH DI & SR & | L

HIT BT Qe o 5T %%}

Fra R) HAT BT H=T .{9@: il \

: ; e o %%
[ D

5 1 1

0] X

: T T T
1 2 3 4 5
Quantity

(9)
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Q.10

AT & fOaR & T9E & 7§ dgad @ 41 UE 8 AN 9% IR HdTe gRT
e ST |epe © | Tt T Hererw @1 e faudia 7 | fovaw @1 Refy & <= A=
@ 3R BIAT & TEfh Aega o Rufy § g8 oo SR &1 AR S 2 |

HIUA R TG AT FATENA & 7 SR AT S R F AT ?

ISR R

A @ ggd ufawe a8 Rt 8 o+ g0 STe 99 WHY 98] ©) IR 984T & O
Rerx A @ Af¥ad so18 © e aRad=eie A &7 AfSrd sarEal o 9T ]
ST & | 39 Reafty # gRadefier ames o1 Wi STe sear 9T 2 | 3 9ISl H,
ITE BT AT AT B B ST 8 |

98H P Yl H S Al B TAN H U HEE S AU Dl 98T Skl & 99 b
AT T S0 A B AHid Seddl § gig 8 |~

e & god Uil B aiferdT T R g7 wree fhar & Jaar © |

99 B SHISAT & @1 ghreal Bl TG BIRIESEERIES
EECRIN
1 1 4 4
2 1 10 10—4=6
3 1 18 18—10=8
4 1 28 28—18=10
5 1 40 40—28=12

qTferesT ¥ ST BIaT 2 & 519 97 &1 ReR #A131 & AT 5/ &) 7firss s&rs4l & JanT
foFaT 7 R8T € A1 §Hol S8 g8l 8 &% WX §¢ 8] & | GRaceiel A BT AR
S W TG IT/E |

¥
s ® TP & MP
/ .
52 s 2
=] =0
o
o =x o 'r‘x
Units of Variable factors Units of Variable factors

s A ST B1TT & 6 et SeTe 9e<] 88 &% WR 9% V&1 @ Wdid = B 3 =1 8idl &
o uRaceiier AR WiHid ITE 981 SR & |

A B 98 Ufabel S BRO: A8 & 90 Iihe & &7 SR AefeilRad g—
ReR AR &1 ol WA : TS B TRMAE ] H IUIeH @ RR AR o Heiie

(10)
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BT 37T YANT BT B | S qof yAnT @ fog uRed=Rita e 9 s @l it
SHISTT P! ATATIHAT BT © | SATGTY MRS STaveq] H IRIT-T3 arer ! TfrRaxt

SHZAl BT TN TR D Bolwy ol IcTed 7 i Bl 8, 3 &1 3 IRaa-Teie]

I BT AT SIS g6+ adr g |
URad3iel A B Heleral | afe : TRadT3Te | O 519 &1 IR shisdia]

GART Y A Ufhar SR 519 faus= W 81 91T § | S9P Boday 99 A+ 6l

AT H glg BIAT 8 AT WHIT STEHAT 98 ST © |

T SR T W9 9% 9oaTe & ReR ARE B 3] WA BT §, YRad-eid
e &) IfaRad shisdl & TR B 9 Rer e uRad+eiiel Grmi & aq=aadr §
Ifg BRlt B | TS HoRawY Fol SITET H ded g8 X Jlw Bl © |

FTT SR T T A S e T U G, A% 1 R @
Ifg g o1 gfef Rer w&ft & O AFT & 9o | Sa dei1 Ju1 AT & HH 8 3 SHIFd

&9 B | 39 o o g T R R 2 |

D,.
s
0 E/
L
P, ™~ el
b E
@ B,
a N \
‘ \ : 5
D
S T
D Q, Q Q Quantity

a3 § DD URM® AT 956 & T SS URMAS ff a6 & | OP Jge™ P19 8
qAT OQ AT AT TAT IR 2 |

A AT Al AT H gig 811 & BT AT 95b &g 3R R &R DD, 8 A1
& | 7747 AT 9% D,D, Ul 956 SS T E, g IR &Ie &1 & | o1 E, 74T el favg g
T 0Q, T3 AT AE AR OP, 75 Fed BHa Bl | 39 AU ART 7 gfitf 1
qo | HHI BF @ BRI AT 956 A8 AR RaAds &R &R D,D, B S | 7Y AT 956
D,D, Iftt asF SS &1 E, fag R @Ic 3@ & | 31 E, 741 | fawg 8 | 39 fIg =
OP, T Wqer B 8°11 T 0Q, T8 Her™ A3 871 |

Herg # gF g8 et Merd wad & 6 ofd @ Rer 8 &= o9 {51 avqg a1
i1 ¥ gfg B0 © O Fger DT S 8l Sl © 91 el Sera 9l 98 S € |
s fIudd 579 AT H o4 BT @ a1 AT B B € ST 8 9T A Sted
ol & 8 oireT & | o gRT I Reafer e g1 ot 2

(11)
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)

L (e < Increase in Demand

Price P |

Q  Q  Quantiy

== & s 21 © % gff 9% SS & ReRr 8w W 7 & 997 B SR DD AT
TH HUR 15 3R R R D,D, &1 71 2 | I8 Y 9% SS P E, g W P v ¥ |
sy E, a7 e fdwg 81| 599 9 8iaT € {6 2 e $iAd 99@x OP, 8l

ST oI T A3 98 B OQ, B S |
D

HAT H B R

Price P, E..

Q Quantity

e &1 =7 g1 € 1% Ul 9% SS & ReR W8 W AN & B 89 B HRT AT
ask DD Tl 978 37 Re<ies #x D,D, 81 74T & | e Yfef 786 SS &I E, g o wre <&t
& | SNfeTT {375 E, 711 9ga &g 87 | 39 g W U #Ed B IR OP, &
SR T e A3 $H IR 0Q, B S |

Or
TP TIRAT & ST~ a1 & dIf R & :

SRATAT SMATIHAIT : HIS Bl JTITIhA AT Bl & | PIg A 7S =1 7ol
AEIBATA B U &Y A G T2l R G| i gur @ @t et @
el ol fedl e T & 9ol w9 9 W< 781 51 I Fedr | ardfadsl
g & [ A DI JMaegHarg fa—ufafaT sgcdl o <& € |

AT AT G AT : ATTTADBNA] BT A B AT eHeR TRV qAT TG e
1 geA BT € | 379 S & g Sy el Wl © Jdifd 9! AR g9l gfit §
feres BT 8 | A D> S

depf T YT : Y AT I1 O] P Ipfeqd TANT 81 © | U <fa a1 FHNT Bl
g YT AT Ul © 5 98 379 A Al o1 ST BIF Wl ATIeIHT $T A
B B oy BN | ISR B g gy Ue Wifid axg & | 39a faft el o o,
TGO I | TN fha1 1 ebedl & | 71 A axggail o ol avg a1 &

(12)
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% .

SORES

_
R e N

~

HET I & |

IRETT H GG DB GERT B SIS B I AT 2 | 59 & i e
HET ST © |
SUAIHE] : f6dl 9% @1 98 ¥R s g7 sagashar &1 | 8 8, Suaifiar

HEARI € |
fReg & SR U frdl uare @f a8 & 8 Sl JTaeashdmall Bl AT Heeh)
g &
forset & S, STAIfT a8 Wi § R 31g @i ST & hevaey e HYar-
gl

ST &1 GHR BT Bl 2 |

(1) g SR

(2) T SUIIRTET

(1) &l SUAINIE : U 9% & fAf=T SH1edl & ST | U 814 aTell WA
ST & Sike BT Hol STARITT HET ST 2 |

AHAE SYAIRTEn 60T avg @1 va Afifad so1e &1 SN &= 3 Gl Suditiar §
g aTell gl & WHid SuAiar &sd € |

HIT-"
E U BT R L L2 L D Pl e K 1 K T R ELIRC LRI B (L R EA4
TR : AR 7oy |

BN ;3 HY |

" g AL AN AR TAAHE, FETAT TS HA AT T [ [erar?
IR : S TH D |

LT ST T AT A Rl [ AT E 2

IR A |

e AT 7 AT ?

Tih qars
i & deg T Uop g A eare | (1) vame & 59y 99 S A ear e |
Tl BT qHIGT Tl Bl (2) UdTE BT AHIBIA BIAT € |
1P, FaTg Bl THIfad Bl § | (3) TaTE, Wi BT Y9ITad BT © |
HefRE &) FB TR FHT (4) smaTa—{=ald BT Dae YaTg ATEROTSII
P Tt el 4 de | g # T S e

(13)
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Q.14  aZMPS TTHF0-8 T AV 1T T AT

TR :
Koot
MPS
SRNSLIN . VLR O
8 8 8 8 4
10
Q.15 WAl A AT TG AT AT AL R
(1) A IR ITUTEH IRG & qER el g | | (1) Y IRY Ieure URHHET & 3R Bl 8
3 IR & HeT W gfEg TR T A B | 7% 9o ¥ gfg s 2R 2 |
(@) I TN SAfAH SUHITH & I ST AT | (2) A IIY SHED] §IRT AT AT el AT D
foraer & forg 99 & SO B E | w9 H a1 g1 et & forg v § o
S B |
(3)  ifom gwgall o1 AT 1 SUHAT AT FHdEr (3) FearadT a3l T ST GIRT Hegail
forar STaT B | SUHIT b1 ST & |
(4)  TSEI T &T TOAT H 3 IR Bl (4) LT 3T T MO H T IS Bl
onif¥et faram ST € | wnfiet el foaT SITem & |

Q.16  Teafaled AESTRYS T AT RO

16 SR Y& IS 3 = Fohel TR IR—eIe -+ aell | Y A 37
= 45,000—3,000+2000
=% 44,000 TRIS

Q.17 AEIIAZHAROMRATATRCAT
IR IS _HPI gol : HIS P Ioic T8 Julc o forad [Hd] TRBR DI AT A 39D

AT g | HH BT B |

HTS BT qOIC = WNHR B AFATG 31 < DR BT AT Y |

TS & YOI @ ¥ qel Bl

AT Bl + Hel B Reafel &7 16 - & oy 91 & 9oic &I Aeayul 9amal & | §9
AR Hel @1 Rerfey # AD &1 wR 1= 819 & SRYT 997 &7 TR g8 e &1 Wi
B | HoRgHy AT IeTe &7 VR oI ISR TR W B dlel IeUTe | §gd il
B AT 2 | SRIGRI U IS THY 99 ST & | 'S &l goic &1 a¥e 9 AD & Wi
Bl HIR ST & : (1) U ©T A WRHR B 78S Fg URT R | (2) uegel diR T)
ST BT D 2 B forg IR Wb |

BIIT © =T WHIS BT 379 # =1 HT goic 9o+ Tl © | 59 37dier H qet AT (AD)

(14)
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Q.18
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Ans.

Ans.

Q.2
Ans.

Q.3
Ans.

Q4
Ans.

(a)

(b)

(c)

(d)

(e)

(i)
(i)
(iii)

(2)

Solved Model Question Paper

Economics +2
PART-A

Who s the father of Economics.
Adam Smith.

. TR
Isitcorrectthat AR = -Q— ?

; TR
ltiscorrectthat AR = E

What is substitute goods?

Those goods which can be used in place of each other to satisfy consumer’s
wants. Eg: Tea and Coffee.

Degrees of Price Elasticity of Demand-----

Five

Who wrote the book ‘Principles of Economics’?

Dr. Marshall.

Explain the assumptions of the law of demand.

The main assumptions of the law of demand are as follows:
Thereis no change in the income of the consumer.

Taste and preferences of the consumers remain constant.
Prices of the related goods do not change.

Write difference between Micro Economics and Macro Economics.
Micro Economics deals with economic issues at the level of an individual
whereas Macro Economics deals with the functioning of the economy as a

whole.
Micro Economics is concerned with determination of output and price for an

individual firm or industry where as Macro Economics is concerned with
determination of aggregate output and general price level in the gconomy as

awhole.
Explain the features of the perfect competition market.
Main features competition are as follows:

(1)
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Q.5

Ans.

Q.6

Ans.

Q.7

Ans.7

Q.8

Ans.

(2)

(3)

The number of buyers and sellers is very large in this competition.

All sellers sell identical units of a given product and price of the product
throughout the market will be the same.

In perfect competition there is no legal restriction on the entry or exit of a firm
means a firm can enter and leave any industry atany time,

Distinguish between returns to a factor and returns to scale.

Following are the main differences between returns to a factor and returns to
scale:

Returns to scale are studied on the assumption that factor-ratio remains
constantwhereas in case of returns to a factor-ratio ought to change.
Returns to a factor apply when only one factor is variable and other factors
remain fixed whereas returns to scale apply when all factors of production
are variable.

Returns to scale is only a long period possibility whereas returns to a factor
are often studied with reference to short period.

Complete the following table”

Units of output | Average cost | Total cost Marginal cost
1 10 10 -
2 9 18 8
3 8 24 6
4 7 28 <
5 7 35 7

Calculate the elasticity of demand from the following table.

GivenP=310 P,=39, Q= 15Kg, Q, =20Kg

A P=P,-P=4-5=%-1
A Q=Q,-Q=20-15=5Kg

Fd=_L,AQ
Q AP
= —Ex = 3.33
15 -1
Ed =3.33 Ed=>1
Explain the factor affecting supply.

Following factors affecting the supply of a commodity ; ------

(@)
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Ans.

Q.10

Ans.

(1) Price of a commodity : There is a positive relation between price of a

(2)

(3)

commodity and its quantity supplied means higher the price higher the
quantity supplied and lower the price lower the quantity supplied.

Number of Firms : Increase in the number of firms implies increase in market
supply and decrease in the number of firms implies decrease in market
supply.

Change in Technology : Improvement in the technique of production reduces
cost of production. It means more of the commodity is supplied at its existing
price.

Goal of the Firm : If the goal of the firmis to maximise profit more quantity of
the commodity will be supplied only at a higher price whereas if the goal of
the firm is to maximise sales more will be supplied even at the same price.

Explain extension of demand and contraction of demand with the help
of diagram.

Extension of Demand : Other things being equal, when with a fall in own
price of the commodity, demand of a commaodity rises, it is called extension

of demand.

Y.

D\A
i B 5
‘ Price | Quantity Demanded @ | 4t
e ] 34
5 1 -1
l 1 5 ‘ 1 l\B
] » —t——1-B
D412 3 4 5 X

Quantity Demanded
—_—

Contraction of Demand : Other things remaining the same, when with a rise
in own price of the commodity quantity demanded of a commodity

decreases, itis called contraction of demand.

Y

D\B
. S | ¢ 5
Price Quantity Demanded o, 4
1 5 e 47
2--
5 1 | \ A
L . e | . 4+ ¢ |'D
¢ 3 4 5 &

1 2
Quantity Demanded
———

What is meant by law of increasing returns to a factors?
What are the causes of its implementation?
Increasing returns to a factor refers to the situation in which total output

(3)
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Ans.

(1)

(2)

(3)

(a)

tends to increase at the increasing rate when more of the variable factor is
combined with the fixed factor of production. Increasing returns to a factor
occurs because of the following factors :

Fuller utilisation of the fixed factor : In the initial stages fixed factor
remains under utilised . Itis fuller utilisation calls for greater application of the
variable factor.

Better coordination between the factors : So long as fixed factor remains
under-utilised, additional application of the variable factor tends to improve
the degree of coordination between the fixed and variable factors, resulted
total output increases at the increasing rate.

Increased Efficiency of the variable factor : Additional application of the
variable factor facilitates process based division of labour that raises the
efficiency of the factor, accordingly marginal productivity of the factor tends
torise.

What will be the impact on equilibrium price when demand changes,
but supply remains constant.

Ifthe supply of the commodity remains constant, then the price increase with
increase in demand and price decrease with decrease in demand. It can be
shown with the help of a diagram..... D,..

L5} 2

EJ P

{f: y"‘Ez \
P

D Q, @ Q Qquantiy

This diagram shows that when supply curve remains constant, equilibrium

price increases with increase in demand of the commodity and equilibrium

quantity also increases. On the other hand when demand decreases

equilibrium price will decrease and equilibrium quantity will also decrease.
OR

How does an economic problem arise?

Economic problem is regarded as a problem of choice because resources

have alternative uses. Thus, the problem of choice arises because the wants

are unlimited and the means to satisfy them are scarce or limited. Problem of

choice is the main economic problem.

(4)
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(b) Whatis meant by utility? Name the various concept of utility.
Want satisfying capacity of a commodity is known as utility. In other words
utility is the ability of a good to satisfy a want. Utility has two concepts....

(1) Total utility : sum total of marginal utilities of all the units is called total utility.

(2) Marginal utility : marginal utility is the utility derived from an additional unit
of a commodity.

PART-B

Q.12 Problem of unemploymentis realted to-=-------.
Ans. (a) MacroEconomics

(b) Reserve BankofIndia

(c) Income Tax

(d) J.M.Keynes

Q.13 Distinguish between Stock and Flow?

Ans. A stock is a quantity, measured at a particular point of time. Eg: wealth and
capital. Whereas a flow is a quantity, measured per unit of time period. Eg:
income and investment.

Q.14 IfMPS = 0.8, find the value of multiplier.
Ans. Given MPS=0.8
£ A
MPS
K= . 1.25
0.8
Q.15 Differentiate between intermediate goods and final goods.
Ans. Final Goods Intermediate Goods
1 These goods are outside the 1 These goods are within the boundary
boundary line of production line of production

2 Thesegoodsarereadytoreach 2 These goods are used as raw material
their final users for consumption. by the producers.

3 Thesegoodsareincludedinthe 3 These goods are notincluded in the
estimation of national income. estimation of national income.

®)
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Ans.

Q.17
Ans.

Q.18
Ans.

Q.19
Ans.

(1)

(2)

(1)

(2)

Calculate the Net National income from the following data.
Net National Income = Gross domestic income—Depreciation+Net factor

income from abroad.
Net National Income =% 45000 Cr.-% 3000 Cr. +3 2000 Cr.=% 44.000Cr.

Explain the concept of Deficit budget.

Deficit budget is that budget in which government receipts are less than the
government expenditure or government expenditure is greater than
government receipts. Keynes recommends deficit budget as a key
instrument to remedy depression. Deficit budget raises the level of
Aggregate Demand in two ways.

(i) Directly by increasing the government expenditure.

(i) Indirectly by inducing greater expenditure by the people.

Explain the double counting problem. How it can be avoided?

The problem of double counting is the problem of estimating the value of
goods and services more than once. This is because while estimating
national income by using final output method, the value of only final goods
and services is taken into consideration. The counting of the value of
commodity more than once is called double counting. This leads to over
estimation of the value of goods and services produced.

To avoid double counting two methods are used :

Final Output Method : According to this method the value of final goods and
services only is included in national income.

Value Added Method : This method refers to the difference between value of
output and the value of intermediate consumption of each producing unit in
the country.

Explain the main function of money.

Following are the main functions of money :

Medium of Exchange : Medium of exchange is an important function of
money. It means that money acts as an intermediary that can be used in
exchange for goods and services in an exchange transaction. As medium of
exchange money has removed the main difficulty of batter system. The
medium of exchange function of money implies that money is generally
acceptable by all the people.

Unit of Value : Unit of value is the other main function of money. Money
serves as a measure of value in terms of unit of account. Unit of account

(6)
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Ans.

Q.21

Ans.

(5)

(6)

(2)

(3)

means that the value of each good or service is measured in the monetary
unit. Measurement of value was the main difficulty of batter system, so we
can say that money has removed this difficulty.

What is difference between Central Bank and Commercial bank.

- Central bank of a country differs from the commercial banks in following

respects:

Public welfare is the main motive of the central bank while commercial banks
operate to earn profit.

Central bank has no direct dealing with the people as against the
commercial banks who deal directly with the people.

Central bank has the monopoly of note-issue but commercial banks can't
issue notes.

Central bank controls the banking system of the country. Commercial banks
function under the control of the Central bank.

Central bank is the banker of the government. All banking activities of the
government are done by it. Commercial banks may function as
representatives of the central bank for government works.

Central bank is a state owned institution where commercial banks may be
private or state owned.

Explain the measures to correct the disequilibrium in the balance of
payments.

Following are the measures to correct disequilibrium in the balance of
payment:

Discouraging Imports : In order to correct disequilibrium in balance of
payments, imports should be reduced by imposing Import Duties, Import
Quotas and Encouraging Import Substitution.

Export Promotion : The best method to correct disequilibrium in the
balance of payments is to increase the volume of exports. All duties or
restrictions on exports should be withdrawn and export industries be given
special concessions and facilities.

Encouragement to Foreign Investment : Investment of foreign capital in
the country constitutes a credit item and so has a favourable effect on the
balance of payments position. Foreign investment can be attracted by
offering different kinds of incentives and concessions.

Devaluation : Devaluation is that monetary measure under which

(7)
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Ans.

U]

(1)

government of a country lowers the value of its currency in terms of foreign
currencies. As a result of it, imports become dearer and exports become
cheaper. Thus, disequilibrium in balance of payment can be corrected.

Whatis barter system of exchange. Explain its drawbacks.
Barter system of exchange is the system in which commodities are
exchanged for commodities. This is also called commodity for commodity
exchange economy or ‘C-C’ economy. But following are the principal
drawback of the barter system of exchange:
Difficulty of Double Coincidence of wants: Double coincidence of wants
is & prior requirement of the barter system of exchange. But it is a rare
occurrence.
Lack of Common Unit of Value : Barter system lacks common unit of value.
Inits absence, itis very difficult to express the value of a thing.
Difficulty of Store of Wealth : Under barter system wealth will be stored in
the forms of goods or animals. But these goods can'’t be stored for a long
time because they are perishable and require large space too.
Difficulty of Transfer of Value : In barter system, transfer of value of goods
from one place to the other is very difficult. Therefore it won’t be possible to
transfer value.

Or
Differentiate between Voluntary and involuntary unemployment.
Voluntary Unemployment refers to the situation when a person is
unemployed because he is not willing to work at the existing wage rate, even
when work is available. Whereas involuntary unemployment is a compulsion
to remain unemployed because jobs are not available in the market,
although persons are willing to work at the prevailing rate of wages.
Write a note on bank rate.
Bank rate is the minimum rate at which the central bank of a country is
prepared to give credit to the commercial banks. The increase in bank rate
increases the rate of interest and credit becomes dear. On the other hand
decrease in the bank rate lowers the rate of interest and credit becomes
cheap. The central bank adopts the dear money policy during inflation and
cheap money policy during deflation.

(8)
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